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BACHELOR OF SCIENCE  
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June, 2023 
BGGET-141 : GEOGRAPHY OF INDIA 

Time : 3 Hours     Maximum Marks : 100 

Note : (i) Attempt all questions. 

 (ii) Marks are indicated against each 

question. 

Note : Attempt questions 1 to 5 in about 500 words 
each. 5×10=50 

1. Write an essay on Unity in Diversity in India. 

Or 

Give a detailed account and importance of the 

Himalayas as a major physiographic division of 
India showing it on the map. 
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2. Explain the major factors affecting the Indian 

climate and weather. 

Or 

Discuss the classification and spatial 

distribution of major soils in India. 

3. Write in detail about the classification of 

mineral resources. 

Or 

Write a geographical account on the 

conventional energy resources in India. 

4. Give description of the phasewise industrial 

development in India. 

Or 

Discuss in detail the classification of urban 

settlements based on population and function 

with reference to India. 

5. Explain in detail the socio-cultural 

regionalisation of India by David Sopher. 
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Or 

Give a brief account on the economic regions of 

India and discuss the reasons of lackadaisical 
outcomes of economic development. 

Note : Attempt any five of the following questions 
in about 250 words each. Each question 
carries 6 marks. 5×6=30 

6. (a) Briefly write about the physical setting of 
India. 

(b) Write in detail about the Ganga River 
System with its six major rivers. 

(c) Discuss various issues related to the 
Indian forests. 

(d) Discuss the utilities of Damodar River 
Valley Project. 

(e) Briefly discuss the importance of 
agriculture in Indian Economy. 

(f) Briefly discuss the factors affecting the 
development of transport network in India. 
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(g) Critically evaluate the scheme of 

regionalisation of India suggested by  
O. H. K. Spate. 

Note : Answer any five of the following questions. 
Each question carries 4 marks. 5×4=20 

7. (a) What is land-man ratio ? Give a suitable 
example. 

(b) What is crystalline structure of minerals ? 
Explain. 

(c) Name and discuss any two geographical 
factors determining industrial location. 

(d) Explain the arrow pattern of village 
formation with examples. 

(e) List any four assumptions of Ashok Mitra 
in the economic regionalisation of India. 

(f) Explain the origin of Himalayas and the 
Northern Plains. 

(g) Mention the four negative impacts of green 
revolution. 
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      BGGET-141 

foKku Lukrd (lkekU;) (lh- ch- lh- ,l-) 

(ch- ,l- lh- th-) 

l=kkar ijh{kk 

twu] 2023 

ch-th-th-bZ-Vh--141 % Hkkjr dk Hkwxksy 

le; % 3 ?k.Vs     vf/dre vad % 100 

uksV % (i) lHkh iz'u vfuok;Z gSaA 

 (ii) izR;sd iz'u ds lkeus vad fn, x, gSaA  

uksV % iz'u la[;k 1 ls 5 rd ds iz'uksa ds mÙkj yxHkx 

500 'kCnksa esa nhft,A 5×10¾50 

1- Hkkjr esa vusdrk esa ,drk ij ,d fucU/ fyf[k,A

vFkok 

Hkkjr ds ,d izeq[k Hkw&vkdf̀rd [k.M ds :i esa 

fgeky; dks ekufp=k ij fn[kkrs gq, mldk foLrr̀ 

fooj.k vkSj egRo nhft,A 
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2- Hkkjrh; tyok;q vkSj ekSle dks izHkkfor djus okys 

izeq[k dkjdksa dh O;k[;k dhft,A 

vFkok 

Hkkjr esa izeq[k eǹkvksa ds oxhZdj.k vkSj LFkkfud 

forj.k ij ppkZ dhft,A 

3- [kfut lalk/uksa ds oxhZdj.k ds ckjs esa foLrkj ls 

fyf[k,A 

vFkok 

Hkkjr esa ikjaifjd ÅtkZ lalk/uksa ij ,d HkkSxksfyd 

fooj.k fyf[k,A 

4- Hkkjr esa fofHkUu dky[kaMksa esa vkS|ksfxd fodkl dk 

fooj.k nhft,A 

vFkok 

Hkkjr ds lUnHkZ esa tula[;k vkSj dk;Z ds vk/kj ij 

'kgjh cfLr;ksa ds oxhZdj.k ij foLrkj ls ppkZ 

dhft,A 

5- MsfoM lksiQj }kjk Hkkjr ds lkekftd&lkaLdf̀rd 

{ks=kh;dj.k dh foLrkj ls O;k[;k dhft,A 
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vFkok 

Hkkjr ds vkfFkZd {ks=kksa dk laf{kIr fooj.k nhft, vkSj 

blds vHkkoxzLr ifj.kkeksa ds dkj.kksa dh ppkZ dhft,A 

uksV % fuEufyf[kr esa ls fdUgha ik¡p iz'uksa ds mÙkj 

yxHkx 250 'kCnksa esa nhft,A izR;sd iz'u ds  

6 vad gSaA 5×6¾30 

6- (d)  Hkkjr dh HkkSfrd lajpuk ds ckjs esa la{ksi esa 

fyf[k,A 

([k)  xaxk unh ra=k vkSj mldh N% izeq[k ufn;ksa ds 

ckjs esa foLrkj ls fyf[k,A 

(x)  Hkkjrh; ouksa ls lEcfU/r fofHkUu eqn~nksa ij 

ppkZ dhft,A 

(?k)  nkeksnj unh ?kkVh ifj;kstuk dh mi;ksfxrkvksa ij 

ppkZ dhft,A 

(Ä)  Hkkjrh; vFkZO;oLFkk esa df̀"k ds egRo dh 

la{ksi esa ppkZ dhft,A 

(p)  Hkkjr esa ifjogu&ra=k ds fodkl dks izHkkfor 

djus okys dkjdksa dh la{ksi esa ppkZ dhft,A 

(N)  vks- ,p- ds- LisV }kjk lq>kbZ xbZ Hkkjr ds 

{ks=kh;dj.k dh ;kstuk dk vkykspukRed 

ewY;kadu dhft,A 
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uksV % fuEufyf[kr esa ls fdUgha ik¡p iz'uksa ds mÙkj  

nhft,A izR;sd iz'u ds 4 vad gSaA 5×4=20 

7- (d)  Hkwfe&ekuo vuqikr D;k gS \ mi;qDr mnkgj.k 

nhft,A 

([k)  [kfutksa dh fØLVyh; lajpuk D;k gksrh gS \ 

le>kb,A 

(x)  vkS|ksfxd vofLFkfr dks fu/kZfjr djus okys 

fdUgha nks HkkSxksfyd dkjdksa ds uke fyf[k, 

vkSj mu ij ppkZ dhft,A 

(?k)  xzke fuekZ.k ds rhj iSVuZ dks mnkgj.k lfgr 

le>kb,A 

(Ä)  Hkkjr ds vkfFkZd {ks=kh;dj.k esa v'kksd fe=kk 

dh fdUgha pkj ekU;rkvksa dks lwphc¼ dhft,A 

(p)  fgeky; vkSj mÙkjh eSnkuksa dh mRifÙk dh 

O;k[;k dhft,A 

(N)  gfjr Økafr ds pkj udkjkRed izHkkoksa dk 

mYys[k dhft,A 
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